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O BEEU&R A2 & ¥=2
50,000& *33] »10¥ 1,500
09 HALAHIXI &S 7,200 8,000 A 800
O BEHAH(SESL,6.258A S) 24T &
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SA: AB=EXD
M ZOSXMHA

Sl ERINHIA (S &2)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S2LEELH(EX) 686,760 1,130,280 N 443,520
== 98,880
= 587,880
301 et A= 686,760 1,130,280 N 443,520
o= 98,880
= 587,880
01 AISIE & A %52 686,760 1,130,280 N 443,520
O s=28&4Y 60,000 x824 X « 1201 & 593,280
& 98,880
= 494,400
O =824 (24 XHA)
10,000 *754% x 1204 & 90,480
O s=2824Y a Al z2 3,000
XNEASEX X 81,693 85,815 N4 122
201 et 9| 6,554 9,900 N 3,346
01 AR 22l ] 2,114 2,700 586
O XNY9AsXNER =8 2,114
02 2=2=24%H| 4,440 7,200 N2,760
O 8&3dd g2 FXNE 1 KA 2,200
O S8IINEX} A2l 2,000
O MIZSXYR =3E 2 7Y 240
202 044l 6,989 7,765 NTT76
01 2L Y| 6,989 7,765 NTT6
O XNYGAMSSEX RFE | 6,989
301 LBt A= 66,150 66, 150 0
08B MBI ER2IEBEAZ 66,150 66, 150 0
O MIEL2RE AlEg 2 30,000 x45H 1,350
O AMI=SRLA SAH|
6,000 *45% 20 x12& 64,800
307 giztol A 2,000 2,000 0
02 QIZIA AAIE E X 2,000 2,000 0
O &394 JHE(st21E S)
2,000,000& =14l 2,000
DOESEX S 2 60,427 42,927 17,500
201 LBt ]| 39,927 42,927 A 3,000
01 AP 22| H| 8,000 11,000 A 3,000
O RoUEE=EX3E 229 AR 22l ] 8,000
02 23244 31,927 31,927 0]
O &3 108,000& 123 1,296
O &)e=2 15,277
O 2ol 99,000& ~12& 1,188




SA: AB=EXD
M ZOSXMHA

SETHE HIPTEES EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O &dll==+& 130,000& 12 1,560
O RuEsE 10,450& *123] 126
O 8dMesreg3a 135,000& *23| 270
O A ot Xt otd el Xt 322l
180,000& 13 180
O A2 LBHs=T 450,000& x13] 450
O 243 Hix25(HEY) 540,000 »23| 1,080
O 2d= & JIAH,&80],24= 84S AMERXAH
4,500,000& =14 4,500
O AMEE H3E M= 488 S
3,000,000& =23 6,000
405 RHoHF S HI 20,500 0 20,500
01 et EZFH S 20,500 0 20,500
O ZUESE=EXZ 28 2 (MY, 9X)
(500 250,000 )+(1007H %80, 000 ) 20,500
g 29 118,056 114,420 3,636
101 @14 Hl 57,571 53,070 4,501
04 JIZHHZ22XREES 57,571 53,070 4,501
O Z2sSs8Ee EQRY 22X 22|
69,7603 x4+ 110 S 1100 & 33,764
O eSSy 532 S50 B2 E2Y 2
X el 69,7603 9= *40H A 2,512
O H2S=Y 2IAI2 20 OE JIZH2
X el 26,1603 «25 2« 2H « 114 & 14,388
O NEFHX MAHIIZE S Al WS
69,7603 *9 « 114 & 6,907
201 £B-2dH| 4,630 5,400 AT70
01 At 22/l 670 900 A 230
O H22Sy 2¥2Y AR2EE S 7Y 670
02 2324l 3,960 4,500 A 540
O 228 E8ga 360,000 * 110 & 3,960
202 Odl 855 950 A 95
01 = LH 4 HI 855 950 A 95
O Xessg 29 = ol 855
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
O He=3=2Y 29 s57¢ 5,000
401 AIEHI L 2] 50,000 50,000 0
01 A& HI 50,000 50,000 0
O me=sy +HRX 50,000
ANEXESE MIMEA EXAE (X)) 487,594 490,563 A 2,969
s 390,076




AN ALEI =X

M FO=EXNAMHA X
el FOINHIA CER-ED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 48,759
s 48,759
201 24l 1,065 650 415
= 852
=) 106
= 107
01 AFR 22l 1,065 650 415
O XNDASIMEIAEZEXRAIY 2] 1,065
= 852
< 106
a 107
308 XX EHHSOIA 486,529 489,498 A 2,969
= 389,224
= 48,653
[ia 48,652
M 3IN2SUHUE3 LS A 486,529 489,498 A 2,969
O XNAAS MBI ASE XA 325,217
o 260,174
< 32,522
A 32,521
O JtAIEE 2 AEIA XI& A 161,312
= 129,050
= 16,131
= 16,131
Mol S KI& 23,500 23,500 0
S 23,500
201 LEt2E | 16,600 16,600 0
=) 16,600
01 At 2teltl 16,300 16,300 0
O Mollw=s=8 & =S 16,300
=) 16,300
02 =224l 300 300 0
O stz & 333 300
< 300
301 LA S 400 400 0
=) 400
09 HALAHIXI &3 400 400 0
O Moll=s W=E s 400
& 400
302 Ol THoH E &t = 3,000 3,000 0
< 3,000
02 QIZHITHOH R EF B S 2= 3,000 3,000 0
O Moll2&=,2HMH S 2,000
=) 2,000
O elgds+g & SATH *FUH 1,000
& 1,000




SA: AB=EXD
M ZOSXMHA

& FUMHA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 3,500 3,500 0
< 3,500
02 IZHEHAHEE 3,500 3,500 0
O Molsd2UAXLIN R (LK) 3,500
< 3,500
AMERHMEXA 292,226 273,271 18,955
= 292,226
301 LEEAS 292,226 273,271 18,955
= 292,226
0B A =RQAB LS 292,226 273,271 18,955
O MISRHMEXNA(S2,05H,0SH|) 292,226
= 292,226
S YSX XA 25,665 7,284 18,381
201 Let24d] 22,690 3,805 18,885
01 At 2teltl 22,690 3,805 18,885
O sLd=XNLRFE ARES ¢ 890
O JLYSNESFA0 OHE S20AH 900
O gY=XNLR 24| 900
O g dgd =24 14,000,000 *1JH 2~ 14,000
O Mg 2588 &1 6,000,000& » 14! 6,000
202 o4l 2,975 3,479 A 504
01 =LHA YI 2,975 3,479 A504
O sZd=2XNYR=Z0 OE S WAL 2,975
Az SEAtd el X 12,600 12,600 0
= 6,300
s 6,300
201 L2l 7,560 8,820 A 1,260
= 3,780
s 3,780
01 At 22l 7,560 8,820 A 1,260
O Atedl2el 29l 7,560
= 3,780
s 3,780
301 LPENF 5,040 3,780 1,260
= 2,520
[ia 2,520
01 MEIBE X253 5,040 3,780 1,260
O Atel el At (2 2], ME X&) 5,040
= 2,520
i 2,520
SHE UEEH SEAMEIA NA(EX) 117,600 117,600 0
= 82,320
s 35,280
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AvEl = X1 Dt
ZoSTMYA X2
ZOIAEIA

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 35,280 35,280 0
= 24,696
s 10,584
01 At 22l 35,280 28,070 7,210
O S8 AtdlZelAtg 292l
2,520,000 » 1404 2 35,280
= 24,696
s 10,584
301 LEHZ 82,320 82,320 0
=2 57.624
= 24,696
01 A3l EE E 56l = 82,320 82,320 0
O SY Atdl2elAte bl 5,880,000& =144 &~ 82,320
= 57,624
s 24,696
NSEASEEEAM 2 K3 (XA) 61,765 66,700 A4,935
201 L2l 18,709 2,700 16,009
01 At 22l 18,709 2,700 16,009
O NgAs2EdgNae 29 909
O XNIASIEZEAN E22 S M 1,000
O SHANGAMIEBEE AN 32l X
30,0003 280 *23| 16,800
301 LEXZ 3,000 3,000 0
09 SHALAHIXIE S 3,000 3,000 0
O NGASEHSEAMARY UXF ALY A
A AU 24 3,000
307 glz2tol & 40,056 61,000 AN 20,944
10 M3 SXNANEHI2IHE=X 40,056 61,000 AN 20,944
O XNGASIEZEAM AR=2 29X 40,056
- M2=2 R oA 33,000
-AMR= 2 7,056,000 * 10 2 7,056
NANSESBEAN 2Y X (2E) 9,000 0 9,000
< 300
e 8,700
307 2Iz2t0l A 1,000 0 1,000
< 300
e 700
11 AISISAAISEE = 1,000 0 1,000
O NIGAMEEEAM AR W= 1,000
< 300
s 700
308 XX EHH SOl A 8,000 0 8,000
07 IXHHM AR L= 8,000 0 8,000
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D FUSTAEA TR
Z=olM A

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O XNIASIEEEA 8,000
DEZNAAMBHSEAM 285 AU 7,000 8,000 1,000
201 Lt 7,000 8,000 21,000
03 &Ar2 I 7,000 8,000 A 1,000
O DE=ZXNSMALSTEAN 243 U
7,000,000& 13 7,000
AMEIEX2 & I8 ALY 3,600 3,600 0
201 24l 600 600 0
01 At 2t 2l 600 600 0
O MEIEX & ST B M
100,000& 6% 600
307 glz2+ol & 3,000 3,000 0
11T M 2XAISE EX 3,000 3,000 0
O MEIsXe d&Zs W' 3,000,000& 13 3,000
==X 679,769 670,144 9,625
= 543,815
< 54,382
s 81,572
301 LEPEXF 679,769 670,144 9,625
= 543,815
< 54,382
i 81,572
01 MEIBEE 263 679,769 670,144 9,625
O 2aXd 679,769
= 543,815
< 54,382
s 81,572
IRAZMES A (EX) 90,000 110,000 220,000
< 9,850
[ia 80,150
307 2201 A 90,000 90,000 0
< 9,850
s 80,150
10 AL SXNAIEEE2EHEX 90,000 90,000 0
O JIRAEZE2E XN (FE0t3, FEW3 90,000
< 9,850
i 80,150
SN S ZA 11,290 17,106 N5,816
SE XA MAAAHE 2H 11,290 17,106 N5,816
201 €24 6,130 6,330 A 200
01 At 22l 2,900 2,900 0
OJIZMEEHHR =M E2H S 2,900
02 23=24gl 3,230 3,430 A 200
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S
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MW

10, 139,854
8,044,007
1,016,532
1,079,315

10,099,
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MW

9,727,759
7,782,207
972,776
972,776
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74,786

MW

9,727,759
7,782,207
972,776
972,776
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74,786

MW

9,727

7,782
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9
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301 LEIEN =

HH
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9
9
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,689
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31,404

Mo A
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A AMIEX
My RO EMBEE
el JZMEBEZO (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 70,733 58,000 12,733
= 70,733
01 AP 22| H| 70,733 58,000 12,733
O d82eld=s EHHidl XI& ALY 70,733
= 70,733
MAEZ 0IMYX OtA3 B2 221,634 221,634 0
= 113,558
& 34,067
= 74,009
301 dEtE M= 221,634 221,634 0
= 113,558
& 34,067
= 74,009
01 Al B & A 46 2 221,634 221,634 0
O NASS 0IMEX 0HA3 B2 221,634
= 113,558
= 34,067
= 74,009
AHE X & 1,641,810 1,469,046 172,764
= 1,272,379
o 94,698
= 274,733
KEXAMH(EX) 1,120,320 1,009, 191 111,129
= 896,256
o= 89,626
= 134,438
101 e1214| 118,320 75,791 42 529
= 94,656
& 9,466
= 14,198
04 J|12ZtHIZ22NEES 118,320 75,791 42,529
O K22 AIHQI2HH S 118,320
= 94,656
& 9,466
= 14,198
201 LBt ]| 2,000 2,000 0
= 1,600
& 160
= 240
01 AP 22| d| 2,000 2,000 0
O XEZ2ZANY 89| 2,000
= 1,600
= 160
= 240
307 212t0| ™ 1,000,000 930,000 70,000
= 800,000
o=} 80,000
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NEEpin
=XIBEVE R

A& X2

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o 120,000
05 RIZHRI &t 3 ,000,000 930,000 70,000
O X2z ALY RAE A ,000,000
= 800,000
< 80,000
[ia 120,000
MEISXEAR HRME D AR 9,720 9,720 0
< 2,916
s 6,804
307 21201 A 9,720 9,720 0
< 2,916
= 6,804
10 ALSISXAIEEE2IHEX 9,720 9,720 0
O NAXNEHH SAXL SEEY 9,720
= 2,916
s 6,804
22580l Y= =242 Ex=XE 151,880 107,959 43,921
= 121,505
s 30,375
307 gl & 151,880 107,959 43,921
= 121,505
s 30,375
05 RIZHRI & 3 151,880 107,959 43,921
O uglssz 27,222
= 21,778
2 5,444
O sNssd 17,432
= 13,946
s 3,486
O 34Usd=ssd 18,854
= 15,083
[ia 3,771
O 3EN=HH 88,372
= 70,698
s 17,674
NAX&dH 29 (Ex) 332,946 297,103 35,843
= 233,063
s 99,883
307 2201 A 332,946 297,103 35,843
= 233,063
s 99,883
10 ALl SXNAIEEE2EH EX 332,946 297,103 35,843
O XNEXedsy 294l 332,946
= 233,063
e 99,883
R 26,944 43,183 £16,239




SN ALSI S X
My RO EMBEE
ool UHEXE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 21,555
= 2,156
= 3,233
301 LEAZ 26,944 43,183 A 16,239
= 21,555
< 2,156
s 3,233
01 MEIBEZE+05l= 26,944 43,183 216,239
O X3 26,944
= 21,555
< 2,156
s 3,233
HASHAAHNSKA 19,681,232 19,707,939 A 26,707
= 8,295,221
| 80,026
< 2,788,398
i 8,517,587
ZOH QI MO H X & 7,449,155 6,518,607 930,548
= 4,907,182
< 882,878
s 1,659,095
HOHI=XIXI& 16,602 18,495 A 1,893
201 et 11,602 12,937 A 1,335
01 At 22l 8,740 10,536 AN1,796
O BOHQ 24Z DIRNE 22 448
250,000 » 1504 2 3,750
O Ze=X RS 2 M
100,000& 6 600
O HOXsxt X 2+ 1,000& »450% 450
O ool QAfS E2 U DS 1,000
O BUASXNLLETE I8 S2 KAyl
8,000& »3H 60 1,440
O Zojeraad 2= AR2eld] 1,500
02 8323l 2,862 2,401 461
O 289 QAN NG| M2
36,0002 »1CH*1201 & 432
O ZeI=SXIHE SIRH LS
3,820& 5004 1,910
O ZUH=F=NNHERARE WEHE DM L5
SH g5 2,200 236 520
202 04l 5,000 5,558 A 558
01 = LH o4 1l 5,000 5,558 A 558
O Zel=XAY SRFA oYl 5,000
Foperelzdl XA 189,585 199,517 A9,982
= 151,667
< 15,167
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

o 22,751

308 AXIEH S0 A 189,585 199,517 A9,982
= 151,667
< 15,167
s 22,751

113/ 2SoHUHSZAEEALS I 189,585 199,517 N9,932
O Zoferelz XA 189,585
= 151,667
< 15,167
[ia 22,751

MASEOHe M 2 ZAE K& 2,360 2,360 0
= 1,180
< 472
s 708

301 LPEHF 2,360 2,360 0
= 1,180
< 472
[ia 708

01 MEIBE X253 2,360 2,360 0
O Bl sSEXEH X= 2,360
= 1,180
< 472
s 708

Zofel EXJ|F W= 4,605 7,031 A2,426
= 3,685
< 368
s 552

301 LEHZ 4,605 7,031 A2,426
= 3,685
< 368
[ia 552

01 MEI2EZE+06l= 4,605 7,031 A2,426
O Zofel MEEXRI|F 12 4,605
= 3,685
< 368
i 552

Zojel XN 20 XA 2,029,808 1,643,850 385,958
= 1,420,866
< 243,577
[ia 365,365

307 glz2+ol & 2,029,808 1,643,850 385,958
= 1,420,866
= 243,577
e 365,365

05 RIZt2IE = 2,029,808 1,643,850 385,958
O ZHegskEAY 2,029,808
= 1,420,866
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HASHANSK S
ZOHQI M EOHE X B

= O

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 243,577
s 365,365
oo 2sE2X JtesS0 1,927 1,401 526
= 1,349
< 231
s 347
307 glz2tol & 1,927 1,401 526
= 1,349
< 231
s 347
05 RIZIRI & 3 1,927 1,401 526
O SZZMY 8SEX =0 1,927
= 1,349
< 231
[ia 347
LY MEAEIA HIR™ K& 151,139 151,139 0
= 105,796
< 15,114
i 30,229
307 21201 A 151,139 151,139 0
= 105,796
< 15,114
e 30,229
05 RIZt2IE = 151,139 151,139 0
O H0iots MEXZALS 151,139
= 105,796
< 15,114
s 30,229
ZOiIYg el K& (SXLXtel) 140,568 120,408 20,160
= 70,284
< 28,113
[ia 42,171
307 gl2tol & 140,568 0 140,568
= 70,284
< 28,113
i 42,171
11T ALS S XAEE = 140,568 0 140,568
O ZoHorgdXtel NE(=2XLRel) 140,568
= 70,284
< 28,113
[ 42,171
ZONold el K& (Lerg dxrel) 417,080 382,534 34,546
= 208,540
< 83,416
e 125,124
101 @124 dl 414,080 379,534 34,546
= 207,040
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HE: HASHAHEN
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M
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T R0IAY 414,080
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82,816
124,224

MW
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1,000
400
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HH W

01 At 2t2l 8l 2,000 2,000 0

O
b
2
o
= e
e
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e
-
m
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10
i
™
mjo
40
o
>
40
00

= 7Y S 2,000
1,000
400
600

HH A

202 o4 Hl 1,000 1,000 0
500
200
300

HH A

01 =LHOI LI 1,000 1,000 0
O Zojerdetaddiiel NEdEE s2 7

a 1,000

500
200
300

o
2

MW

ZOHQI L X2l K& (Al 2EHM L Xtel) 65,662 63,800 1,862
32,831
13,132
19,699

MW

101 Q124 H] 65,662 63,800 1,862
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301 et M= 124,300 0 124,300
J| 31,075
= 93,225
01 AMFSIEXE 4562 124,300 0 124,300
O oz otsz=4 7,300
J| 1,825
= 5,475
O gsxs ots=24 117,000
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01 = LH 4 Hi 3,840 4,118 A 278
O Lel=2X g2F2 ol 3,840
=SS (NAMER) 50,168,941 50,168,941 0
= 45,152,047
< 1,003,379
s 4,013,515
301 LEAZ 50, 168,941 50,168,941 0
= 45,152,047
= 1,003,379
s 4,013,515
01 MEIBZE 06z 50, 168,941 50, 168,941 0
O Jlx=zda=X& 50,168,941

_33_




2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Mo

45,152,047
1,003,379
4,013,515

H
o
re
oy
Ll
g
bal
0

[

Mo

1,667
250
1,417

2,833

A1,166

307 21201 &

EUNL

1,667

250
1,417

2,833

A1,166

M

1,667

1,667

250
1,417

2,833

A 1,166

EURLY

86,400
21,600
64,800

86,400

307 glztol &

M H

86,400

21,600
64,800

86,400

1A SXAIE E =

O NS=SBEMALS Mot Ql AABE

EUNL

86,400

86,400
21,600
64,800

86,400

40
]
0y
HU
>
0
I
P

EUNE

37,500

9,375
28,125

37,500

307 212t01 &

M

37,500

9,375
28,125

37,500

EURLY

37,500
37,500

9,375
28,125

37,500

H X

77,260

38,630
38,630

8,652

68,608

Jl

HJ

77,260

38,630
38,630

8,652

68,608

01 At2 22l bl

O SHe e SSAdS20 24|

y

M

4,078
4,078

2,039
2,039

73,182

73,182

3,360

5,292

718

67,890

_34_




A AMIEX
By Lo=xEd
G MASEOIMEONIA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 36,591
= 36,591
HESHHEN B2 XD XA 9,000 9,000 0
== 2,700
= 6,300
307 2Iz2t0| A 9,000 9,000 0
= 2,700
= 6,300
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= 1,875,740
c 281,370
= 522,530
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_36_




A AMIEX
By Lo=xEd
CHRl: =0 AISIEON UK (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O Lo ASESXNE 2UEHI
2502 %180, 000 45,000
= 22,500
o=t 9,000
= 13,500
307 2iz2to| & 6,086,466 6,569,814 N 483,348
= 3,043,233
== 1,217,293
= 1,825,940
05 QIZ2tR E 2 6,086,466 6,569,814 N 483,348
O LA ESXRAY OI2tL EF 6,086,466
= 3,043,233
= 1,217,293
= 1,825,940
AMLIHEE &9 A& 297,200 277,200 20,000
& 31,160
= 266,040
307 QI2t0| & 297,200 277,200 20,000
& 31,160
= 266,040
10 MM SAANEEHESIGHEX 297,200 277,200 20,000
O AMLNWEE 28X 290,000
= 29,000
= 261,000
O ZoEXNAE(AMLHEE) SAL E8E 7,200
&< 2,160
= 5,040
st olg X& 149,280 135,710 13,570
& 37,320
= 111,960
307 giztol A 149,280 135,710 13,570
& 37,320
= 111,960
03 IZIHEESIEHEX 149,280 135,710 13,570
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DEZ Lo 2l 15,000 59,000 A 44,000
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